
Variable Speed Auger Drive Units
DV-20, DV-30, & DV-40

Pengo® and the Pengo logo are registered trademarks of the Pengo 
Corporation in the United States and various other countries.  

© 2019 Pengo Corporation, all rights reserved.

Variable speed motor CANNOT BE OPERATED without being pre-filled with hydraulic fluid.  Operating the motor without 
hydraulic fluid WILL CAUSE EXTENSIVE DAMAGE.

The motor has been equipped with quick connect couplers to ensure the motor has fluid at all times.  The motor is filled with 
hydraulic fluid at the factory and is shipped in a ready to use condition.

All DV series units require the use of a motor case drain line.  A 3/4” (ID) CASE DRAIN LINE MUST BE USED TO 
AVOID DAMAGE TO THE HYDRAULIC MOTOR.

IMPORTANT!

NOTE: The DV series Auger Drives use a threaded quick coupler on the hydraulic 
motor.  The DV series hydraulic motor must maintain fluid in the motor at all times.  
These quick couplers ensure that the motor will always maintain a minimum level of 
fluid.  These quick couplers also make connecting to the auxiliary hydraulic circuit 
easier when residual pressure is present in the line.

These quick couplers should not be replaced by another coupler that does not allow 
fluid to remain in the motor.  Replacing these couplers with a method that does not 
retain fluid in the motor can lead to damage and will not be covered by warranty.

www.pengoattachments.com

THIS DRAWING AND ALL INFORMATION THEREON IS THE 
PROPERTY OF PALADIN BRANDS HOLDING INC. OR IT'S 
RESPECTIVE SUBSIDIARY AND IS CONSIDERED CONFIDENTIAL 
AND PROPRIETARY. COPYING, DISCLOSURE, TRANSMITTING 
TO OTHERS, AND ANY OTHER USE IS HEREBY PROHIBITED 
UNLESS CONSENT HAS BEEN OBTAINED. THIS DRAWING SHALL 
BE RETURNED OR DESTROYED AT THE REQUEST OF IT'S OWNER. 
THIS DRAWING IS PROTECTED BY FEDERAL COPYRIGHT LAWS 
AND/OR FEDERAL AND STATE TRADE SECRET LAWS. ALL 
RIGHTS RESERVED.

25

24

7
3

9

5

6

4

26

23

8

2

THESE SCREWS IN
BOM WITH BAIL
610151
M16x2 X 160 PLAIN

27

21

20

1 NOTE:
DO NOT ATTACH 1 EA
610363, 610364 & 610211.
QUICK COUPLERS SHIP
SEPARATELY ALONG WITH
PLANETARY DRIVE

ITEMS 10 THRU 19
ARE PART OF
HOSE KIT NO.610369

LBS Kg
? 0.00

27 350288 1 DECAL PENGO SYMBOL MEDIUM

26 700529 2 NUT, HEX  M8 X 1.25 ZINC

25 700527 2 SCREW, HEX GR8.8 M8x1.25 X 30MM LG ZNC

24 700525 2 WASHER, LOCK 8mm ZINC

23 610000 1 MANUAL HOLDER (01-473) MINI

22 350299 1 DECAL HIGH SPEED

21 350296 1 DECAL MODEL DV-20

20 350247 1 DECAL  DANGER AUGER DRIVE

19 610365 2 SPLIT FLG ASSEMBLY CODE 62 1" PORT

18 660825 1 FITTING, HYD [Q-CONNECT] 3/4 MALE FF

17 660824 1 FITTING, HYD [Q-CONNECT] 3/4 FEMALE FF

16 610363 1 FITTING, HYD QUICK CONNECT 1 [VEP COUPLER]

15 610371 1 FTG, HYD QCK CONN 1 [VEP 17 HD NPL] CD 62

14 610370 1 FTG, HYD QCK CONN 1 [VEP 17 HD CPLR] CD 62

13 610364 1 FITTING, HYD QUICK CONNECT 1 [VEP NIPPLE]

12 610367 1 FITTING NJ-MM METRIC 7005-12-L18-26

11 610368 1 FITTING MJ-MAORB 90° 6801-12-12-NWO

10 610366 1 HOSE ASSY, CASE DRAIN [DV-20]

9 610169 1 TAG  SERIAL .03 ALUM BLANK SERIALIZED

8 700760 15 WASHER, LOCK M16

7 660558 1 PIN  ASSEMBLY 45MM W/ RETAINERS

6 610154 8 NUT, HEX G10.9  M20x2.5

5 610095 8 WASHER, LOCK 20mm ZNC

4 610153 8 SCREW, HEX GR 10.9 M20X2.5 X 50MM ZINC

3 610439 1 BAIL, PAINT OCT TOP DT-15 RT & DV-20

2 610372 1 BAIL PAINTED OCT BOT [DV-20]

1 610358 1 DRIVE UNIT [DV-20]

ITEM PartNo QTY. DESCRIPTION

610442

610442

05/04/11

NONE

DRAWN BY

MATERIAL ASSEMBLY

TITLE:

SIZE REV

SCALE: 1:8

PLANETARY DRIVE ASY [DV-20]

SHEET 1 OF 1HEAT TREAT

TOLERANCES UNLESS OTHERWISE SPECIFIED
.X  .1 [2.54  .XX  .03 [.76]  .XXX  .010 [.25]  ANGLE  1 DEG.

THIRD ANGLE PROJECTION

C

MJR
DATECHECKED BY

C
61

04
42

RE
V

These fittings are 
provided with the 
Drive separately.  
Use these fitting 
to complete the 

hoses used on the 
Prime Mover.  

Tank Port

Pressure PortCase Drain Line

 USE FITTINGS 
SUPPLIED WITH 

DRIVE UNIT TO 
CONNECT MOTOR 

TO CASE DRAIN WITH 
A 3/4” (ID)  HYDRAULIC 

HOSE

ACTION REQUIRED!

Ports may vary 
depending 

on machine 
model


